光學作業  應物四 0952178 李晴弘

Problem 8-8

The plates of a Fabry-Perot interferometer have a reflection coefficient of r = 0.99. Calculate the minimum (a) resolving power and (b) plate separation that will accomplish the resolution of the two components of the H-alpha doublet of the hydrogen spectrum, whose separation is 1.360 nm at 656.3 nm.
Sol:
(a)

The resolving power is 
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(b)

Since the reflection coefficient of r = 0.99

The Finesse   F = 
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And R = 48260 = m F = m*156.29 ( m = 308.785
And m = 308.785 = 
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( The plate separation d = 1.013*
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